ToughArmor ICY DOCIK

3 NVMe SSD Mobile Rack for 5.25" Bay

=) =TT =T-—1=)
(feesesescno=
& 1]

—

MB118VP-B

CScan the QR code for more product informa(ion)

Copyright © ICY DOCK International. All Rights Reserved. 650303 VER 1.0

Cremax Europe GmbH K Bevond Technologies UK Ltd
Email: support@icydock.com Email: info@beyondtech.co.uk
Weidenweg 21H, 47059 Duisburg, Germany C n Unit B6, Halesfield 11, Telford, Shropshire, TF7 4PH, UK.

Package Contents ® Packungsinhalt ® Contenu ® Contenido del paquete

o AEICO T o BEGRAA BRI

Device User Manual Drive ID Plugs

G x10 E x14

10 x M3*2.5 Pan Head Screw 14 x M3*4 Flat Head Screw
for Device for 2.5" SSD
(2 x Screw for Spare Parts) (2 x Screw for Spare Parts)

@ Note: Please use the included screws to secure the device & drives

Device Information ® Geréateinformationen ® Informations dispositif
* Informacion del dispositivo ® A {kZ7BE o HEERRE o HL{AULRR

'V Front View
= ey
[z =
I OCmESEaESESaIED0 [T N
es Erelastife ateas]
S=SEHETRIITICREE || B
— =
I odg= === ]u] [
29 ErTeebmile alie]
SqSEHESES ST AR
ode == =0
U— = [ eastmife o]
SqSESESES 2 A0RSS |
2

1 Drive Tray Ejection Button
2 LED Indicator (Power : Solid Green ; Drive Access : Flashing Green)

3 Slot for Drive ID Plug

V¥V Rear View

1 15 Pin SATA Power 2 3 Pin Fan Header Port
3 SlimSAS 8i Connector (SFF-8654)

Installation Guide ® Installationsanleitung ® Guide d'Installation ® Guia
de instalacion © 8@ DAEHAHFIRIC DN T o IRESER o RIESE

3-3

Remove the ABS support bracket by unscrewing 2 x M3*4 flat head screws and keep the
screws for drive mounting purposes (3-6).

The tray accommodates U.2/U.3
NVMe drives up to 9.5mm in height.

Align the four screw holes to the
drive and use the included M3*4
screws to install.

(Optional)

Drive ID Plug

o~ (1)

Insert the drive ID plug into the slot, according to your preference.

Device Installation ® Installation eines Gerates ® Installation du dispositif
* Instalacién del dispositivo ® 7/ 4 R EUfFFIE o $ T RIS
° RERKLHR

1. Insert the device into external 5.25 bay and use the included
M3*2.5 screws to secure the device.
2. Connect 15 Pin SATA power and SIimSAS cables to the device
to finish installation. .

ICY DOCK reserves the right to change product specifications, components,
or accessories without prior notice. For the warranty information, please
visit www.icydock.com/warranty.php




